Joogg

20120 30 16 O

1 ODOOO

gooooobobooooooobooooooooboboobooooooo
coooooboobocobo-obooobooboooooooboobooboOoooooon

2 JO0bOOoooooooo

0000 h=¢=1000000000000000SO000AOOOOOOOOOOOO
0 Hg,H,00D0D2000000000000000 Hegpu=Hs®H, 0000
S+A0O0000O000
00o0O00oO00o0oO0oo0ooo He, H,000O0D0O0D00OO00OO000 H,, 000000000
000000 HgpnO

ﬁs+A=ﬁs®i+i®ﬁA+ﬁint

googoo

O000<7<7 0000000000000
t=0000000000(000O0oon)
¢ SO ADOODOOO0OoOOoOoo

t=rT

. SO0 AODDDOODOODOOOOO

t=1

1

AODODDODOOO

t=00 00000000
[1(0)) = [ws) [a) € Hs1a

D000 |¢s) € Hs, |[¢a) € H4OOOD
doooooobooooobooooooooooooa



SO0D0000000 QOOoO QDDDDDDDDDDD
) =D (g, 0) [ds(a, D)
q,l

(00000000000 0lOD0D0OD0Oooon)
0000000000 AODDOOROOOO ROODOOOOOOOOOOOOOOOOO0O0O0O
roU0000O0DOO0ODODOO

[Wa) = halro,m)|ro,m)

(I‘DDDDDDDDDDDD mDDDDDDDDDD)
DDD[Qaé} = [Q?ﬁA]:[ﬁS7E]:[ﬁS7ﬁA} =00000
Oo0o00S+A00000O0O00O0OO0O0DbDDOOoOn
(7)) = e 54T [yhs) [1ha)
= ZZQZ}S(CL l)¢A(m>6_iHS+AT ‘q7l> |T05m>
q,l m

good
e AT lg, b froym) =3 Y iy a0 I m')
ql7ll 'I“’JTL’
gobogo
googon
a5 = (g, (roml e AT g 1) [ )
googo
goo

o) = X [estad X (1000 X watompug 0 o) )|

q,l q’,l m,r’,m’
gddooooooooooodouooooonoa

(7)) = e~ =D M ()

000000000 A00000A0DOODODOOOOO
oo0ooobooobooboboobobooboooboon

ﬁR(T):i®Z‘T7m> <r,m[
m
ooooooo -oooooo

Pr(r) = | Pr(r) [9(=)) |I?
= ||Pr(r)e~{HsHHDE =) 1y (7)) |12



O00r0000000000000 (the post-measurement state) O

AL 1 > r -
6r () = Pl ()

— e ) )

/Pr(r)
oogg
oooooogogdg

pr(r') = Tra(leor (7)) (r (7))
0000000000000000000
<X >= (e (T X e (7)) = Tepr (') X]

good
godoooooOd-ooodoboodb ROOCOOOyr00OO0O0ODOODOOOOOODO
000000000oooooo0o00 QUUooooooD

3 0DobOood

goboobooobogoboboobboobooobuoooboobobooboooboon
gobobobbbooooooooboboo-ggbobobbbooooooooboobobbooooooboobo
oooooboooboooo
gbooooboobboobooooboonoboon
gooo-0og-0boo-0o0g
gboogoobogoo
gooboobooobooboboobobooboboobg
goboooooooo-bboooooooboobobobboooooooobobboooooooobooobo
gboooobogbbooboooboonbobg
oooooboogooog



